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 : (1)  – A      . 
  (2)  – B  . 
  (3)         . 
  (4)    . 

 

       – A 

1. (A)       . 10 

 (B)    : 10 

  (1)     , P(x = 3) = P(x = 4)   P(x = 2) . 
  (2) 52     3     (i)   , (ii) 

     . 
 

2. (A)    : 10 

  (i) 

 x2 – 5x + 

1
x dx 

  (ii) 

 

x – 5
x + 7 dx 

  (iii) 


 

ex  x3 + e2x

ex  dx 

  (iv)  

 3x + 1 + 

1
x5 – 

1
2 dx 

 (B)     ?          10 

  




2

13

 
x

x + 15 – x
 dx 

 

3. (A)    –X  R     10 

–
X 28 37 31 25 35 42 
R 10 12 10 11 13 10 

      (A2 = 0.58, D3 = 0, D4 = 2.11) 
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 (B)        . ,  
  np       10 

 . 1 2 3 4 5 6 7 8 9 10 

  50 50 50 50 50 50 50 50 50 50 

  3 7 0 2 5 8 2 6 2 5 

 
4. (A) AQL  LTPD . 10 

     (1500, 100, 2),   AQL = 1%  LTPD = 3%   
     .  

  [e–1 = 0.36788; e–3 = 0.04979] 
 (B) AOQ  ATI . 10 

     (50, 10, 0)  P1 = 4%   ASN, AOQ  ATI  
. 

 
       – B 

5.       : 10 

 (1)   ,  = _________   = _________. 

 (2)  n  _________  p  _________  np     
     .  

 (3)     m = 5, n = 45  r = 5    .  

 (4) 


 

1
x
 dx = _________. 

 (5) 


a

a
.
.f(x) dx = _________  

. 
.

.K dx = _________. 

   K   . 
 (6)               

_________       . 
 (7) 200   10   100     p  U.C.L. .  
 (8)  , AQL _________ LTPD  ASN _________ ATI. 

  (a) >; < (b) >; > (c) <; < (d) <; > 

 (9)   , P(0) = _________. 

  (a) em (b) 
1

em (c) 1 (d) 0 

 (10)          .  
____________ 
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Instructions : (1) Give answer of any two questions from Section – A. 
   (2) Section – B is compulsory. 
   (3) The figure to the right indicate full marks of that question. 
   (4) Graph paper will be supplied on request. 

 

      Section – A 
1. (A) Write the properties of Poisson distribution and Hypergeometric distribution. 10 
 (B) Solve the following : 10 
  (1) For a Poisson variate, P(x = 3) = P(x = 4) then find P(x = 2). 
  (2) Three cards are drawn from a pack of 52 cards at random. What is the 

probability that (i) all are spade, (ii) all are king ? 
 

2. (A) Solve the following : 10 

  (i) 

 x2 – 5x + 

1
x dx 

  (ii) 

 

x – 5
x + 7 dx 

  (iii) 


 

ex  x3 + e2x

ex  dx 

  (iv)  

 3x + 1 + 

1
x5 – 

1
2 dx 

 (B) What is definite integration ? Write its properties. Also solve the following : 10 

  




2

13

 
x

x + 15 – x
 dx 

 

3. (A) Draw 
–
X and R charts for the following data : 10 

–
X 28 37 31 25 35 42 
R 10 12 10 11 13 10 

      (A2 = 0.58, D3 = 0, D4 = 2.11) 



AO-101 4 

 (B) Write the difference between variable charts and attribute charts. Also find the 
control limits of np chart from the following data : 10 

Sample No. 1 2 3 4 5 6 7 8 9 10 

Sample Size 50 50 50 50 50 50 50 50 50 50 

Defective Units 3 7 0 2 5 8 2 6 2 5 

 

4. (A) Explain : AQL and LTPD. 10 

  For a single sampling plan (1500, 100, 2), if AQL = 1% and LTPD = 3%, then 
find the producer’s risk and consumer’s risk. 

  [e–1 = 0.36788; e–3 = 0.04979] 

 (B) Explain : AOQ and ATI. 10 

  For a single sampling plan (50, 10, 0), find the ASN, AOQ and ATI if P1 = 4%. 

 

      Section – B 

5. Attempt any five from the following : 10 

 (1) For a Poisson distribution, mean = _________ and variance = _________. 

 (2) When n  _________ and p  _________ and np is finite, Binomial 
distribution tends to Poisson distribution. 

 (3) In usual notations in Hypergeometric distribution, m = 5, n = 45 and r = 5. Find 
the variance. 

 (4) 


 

1
x
 dx = _________. 

 (5) 


a

a
.
.f(x) dx = _________ and

. 
.

.K dx = _________. 

  Where K is a constant. 

 (6) If a sample point falls outside the control limits, it shows variations due to 
_________ causes. 

 (7) Out of 10 samples each of size 200, the total number of defective items are 100. 
Find the U.C.L. of the p-chart. 

 (8) Usually, AQL _________ LTPD and ASN _________ ATI. 

  (a) >; < (b) >; > (c) <; < (d) <; > 

 (9) For a Poisson distribution, P(0) = _________. 

  (a) em (b) 
1

em (c) 1 (d) 0 

 (10) Write the names of any two assignable causes. 
____________ 


